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Okun's law establishes a relationship

between :

(A) Output and Employment
B) Interest rate and Investment
(®) Unemployment and GDP

(

D) None of the above

The demonstration effect means :

(A) Consumption behaviour of
individuals is affected by their
observation of other whom they
related to

B) Standard of living of individuals
is affected by the behaviour of
others

€ Income of individuals depends
upon income of others

D) None of the above

Tertiary sector of an economy refers

to:

(A) Agriculture and mining
B) Manufacturing

€ Services

D) None of the above

Stagnation means a combination
of :

(A) Slow growth and Rising prices

(B) Slow growth and Falling prices

©) Accelerated growth and Falling
prices

D) No growth and No change in
prices
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Which of the following measures helpful
in controlling inflation ?

(A) Reduction in bank rate

B) Increase in public expenditure
(9] Devaluation

D) Stability in exchange rate
Measures to control deflation are
following :

(A) Increase in the quantity of money
(B) Relaxation in taxes

€ Economic help

D) All of the above

"Inflation is unjust and deflation is
inexpedient." Who gave this statement ?
(A) Prof. Keynes

(B) Prof. Marshall

(0] Prof. Pigou

D) Prof. Samuelson

Causes of demand pull inflation :

(A) Increase in supply of money
(B) Increase in disposable income
©) Increase in export demand

D) All of the above
Causes of Cost-Push Inflation :

(A) Increase in money wages of
labour

B) Increase in profit rates of
producers

(©) Increase in costs of raw material
and fuel

D) All of the above
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12.

13.

14.
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What possesses general acceptability ?

(A) Bill of exchange
(B) Bond

(€ Money

(

D) Bank draft

What happens in reflation ?

(A) Always reduces cost of living
(B) Always reduces standard of living
€ Reduces price of products

D) Reduces purchasing power of

money

Which of the following phases of business
cycle occurs after trough and before a
peak ?

(A) Lag

(B) Consolidation

©) Expansion

D) Contraction

Which of the following is an example of
fiscal policy ?

(A
(B
C
D) Manipulating bank rate

) Change in interest rate
) Change in tax rate
)

Controlling money supply

Which of the following is not a component
of GDP ?

(A) Government expanding
(B) Interest

€ Investment

D) Net exports

(35)
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15.

16.

17.

18.

19.

In a business cycle, the opposite of peak

(A) Boom
(B) Recession
(©) Trough

D) Deflation

The LM curve represents an equality

between :

(A) Saving and Investment

B) National Income and Consumption

€ Demand for Money and Supply
for Money

D) Demand and Supply of a Product

IS-LM theory is :

(A) An alternative to Keynes and
Classical theory

(B) A synthesis of Keynes and
Classical theory

© Improvement in Keynesian theory

D) Improvement in Classical theory

IS curve represents :

(A) Product Market

(B) Equality between Saving and
Investment

(C) Equality between Demand and
Supply

D) Both (A) and (B)

IS-LM curve analysis was introduced by :

(A

B

) J.M. Keynes and Hicks
) J.R. Hicks

) Pigou and Marshall

)

_ =~
(@)

D P.A. Samuelson
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20.

21.

22.

23.

24.

25.

Which of the following statement is true ?
(A) Real saving = Planned investment
(B) Planned saving = Planned

investment
€ Income = Saving + Investment
D) Income=Consumption+ Investment

Total of marginal propensity to consume
and marginal propensity to save is equal

to :
(A) 3/5 (B) 53
€ 112 D) 1

Investment Multiplier indicates that :

(A) With increase in investment
income increases

(B) With increase in investment
consumption increases

€ With increase in investment
saving increases

D) With increase in investment
income remain same

Meaning of Investment is :

(A) Increase in real capital reserve

(B) Financial investment

€ Compensation of capital loss

D) None of the above

Balance Budget Multiplier is always :

(A) 0 (B) 1

(&) -1 (D) Infinite

The difference between Gross investment

and Net investment is :

(A) Depreciation

(B) Accelerator
€ Net indirect tax
D) Capital investment
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26.

27.

28.

29.

30.

In a boom :

(A) Unemployment is likely to fall
(B) Demand is likely to fall

(9] Prices are likely to fall

D) Imports are likely to fall
According to accelerator principle,
investment depends on change in the :

(A) Rate of Interest

B) Consumption
(€ Price
D) Saving

In India, Agricultural income is calculated

(A) Income method
B) Output method
©) Expenditure method

D) None of the above

Under classical theory, demand for labour
is same as the :

(A) MP curve of labour
(B) MRP curve of labour
(C) MC curve of labour
D) MPP curve of labour

The reason for existence of proportional
relationship between money stock and

price level is :

(A) Money Illusion

(B) Inflation
(€ Full employment
D) Wage price flexibility
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31.

32.

33.

34.

35.

The stage of Inflation is :

(A) Development of production and
industries

(B) Encouragement in price increase

€ Stage of full employment

D) All of the above

Macroeconomics is a study of economics

that deals with which four sectors ?

(A) Family, Firm, Government and
Demand Supply

B) Firms, Family, Government and
External Sector

€ Profit, Price level, Cost and
Expenditure

D) None of the above

Level of unemployment is high in the state

of :

(A) Inflation
(B) Deflation
€ Reflation

D) Stagflation

The increase in quantity of money to
remove the effects of recession creates :
(A) Inflation

(B) Deflation

€ Reflation

D) Stagflation

The combined form of inflation and
general unemployment is known as :

(A) Deflation
(B) Disinflation
€ Reflation
D) Stagflation

ECONOMICS-A080201T-B/4635

31.

32.

33.

34.

35.

YET Wi %l T B

A)  SEET q°9 I B S

(B) T H gis B dedreT

€ 9o UK &l Refd

D)  SUUE G

it srdarer # e @R &

e e o ®

(A) URER, ®H, SR ST AN
o

(B)  H, URAR, EXHR T STedl &
C) ™, Fd, TAEG Td T

O) SR H § H3 T
JUSFI & &) fhe Rafq & atfde
ST BT B ?

A If

B)  ITaEhIia

C)  gepifa

O) = il

T % I B T HBA B [T R
F A F B R gRe S Hl |
A I

B)  STEEHIT

C) G

O) o i

HE IS T Thifer b affea
T B FEd T

(A) ST

(B) ST

C)  gepifa

O) o= i

[PTO]



36.

37.

38.

39.

40.

Galloping inflation is a state in which annual
increase rate of prices is :

A 5%
B)  10%
© 2%

D) None of the above

Phillips curve represents :

(A) Relationship between wage rate
and unemployment

(B) Relationship between employment
and inflation

(C) Relationship between tax
revenue and tax rate

D) Relationship between public
revenue and expenditure

Which economist presented Phillips

Curve ?

(A) Samuelson

(B) Solo

©) A.W. Phillips

D) None of the above

Meaning of Investment in Keynes

Employment theory is :

(A) Financial investment

(B)
© Gross investment
D)

(

In an economy, investment depends

Real investment
None of the above

upon :

(A) Rate of interest

B) Marginal efficiency of capital
€ Both (A) and (B)
D)

D None of the above
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41.

42.

43.

44,

45.

Which among the following is not a feature

of Keynesian theory ?

(A) Short-run

(B) Wage price flexibility

€ Fiscal policy

D) Underemployment equilibrium

Under classical theory, rate of interest is

determined by :

(A) Demand for money and supply
of money

(B) Demand of capital and supply of
savings

©) Demand for investment and price
level

D) Demand for investment and
supply of money

Keynes published the book 'General

Theory of Employment Interest and

Money' in the year :

(A) 1929 (B) 1933

©) 1936 D) 1935

The two corner stones of classical theory is :

(A) Phillips curve and Say's law

(B) Say's law and Quantity theory of
Money

(&) Quantity theory of Money and
Liquidity Preference theory

D) Say's Market law and Liquidity
Preference theory

Average no. of times a unit of money

changes from one hand to another is

called :

(A) Price level

(B) Supply of Money

€ Value of Money

D) Velocity of Circulation
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46.

47.

48.

49.

50.

In a closed economy is not included :

(A) Households
(B) Firms
© Government

D) Foreign sector

In a closed economy total expenditure is

equal to :

(A) C+I+G+NX
B C+I+G+X-M
C) C+I+X-M

D) C+G+X-M

Inflation is a state where :

(A) Money in circulation is more

(B) Price level is high

(C) Stable and continuous increase
in prices

D) Increase in prices at full
employment level

Which class is maximum benefitted by

inflation ?

(A) Producer

(B) Investor
(C) Labour
D) Consumer

In which state the inequality in the distribution
of income and wealth increases ?

(A) Inflation
(B) Deflation
(€ Reflation
D) Stagflation
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51. Aggregate supply is effected with : 51. Skl Eﬁ T 999 Sl ©

(A)  Price level A)  HHT X H
(B) Production capacity of economy (B) ST Hl STE &l
C) Level of costs C) ANl & X o
(D) Al of the above 0) IR |
52.  Point of Effective Demand is where : 52. Ol HOT @ 9 a8 ® T
(A) Aggregate demand is equal to (A) TR AT K & G "ﬁ[
aggregate supply ®
(B) Demand of money is equal to (B) il H AT SR B Hal &
supply of money gi%i ®
(®) Saving in equal to supply (®) aq IET § ‘fc‘f ®
(D)  None of the above O) WK H q H3 T
53. Keynes Employment theory is not applied 53. B B TR T NI el gar
on: T
(A)  Capitalist Economy (A)  USNETEl sTerER W
(B)  Developing Economy B) fomEdiw sTdeae W
(C)  Developed Economies C) foepita crefeqaemell W
(D)  None of the above O) SR H q H3 T
54.  Who rendered the concept of 54.  IUART el FTURCN B Hferares
consumption function ? TP :
(A)  Prof. Keynes A) W B A
(B)  Prof. Hicks B) W fTw A
(C)  Prof. Fisher C) W R A
(D)  None of the above O) SR H q H3 T
55. Average propensity to consume is equal 99. e U El?ﬁf T & TR
to: T
C C
® 5 -
AC AC
N NG
Y Y
© < © ¢
o - o -
AC AC
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56.

57.

58.

59.

60.

Macro Analysis studies :
A
B
C

(A) Individual Income
(B) National Income

© Individual Saving
D) Demand Analysis

Who is known as the father of Macro

Analysis ?

(A) Adam Smith
(B) Pigou

© Marshall

D) Keynes

The author of 'General Theory of

Employment Interest and Money'is :

(A) Keynes
(B) Pigou
€  JB. Say
D) Marshall

Theory of Micro Analysis in the following

is :

(A) Theory of Distribution

(B) Theory of Economic Development
(C) Macro Theory of Distribution

D) Theory of Income and Employment

National Income is equal to :
(A) NNP at Market Price

(B) NNP at Product Cost

©)

D) Gross National Product (GNP)

Net Domestic Product

ECONOMICS-A080201T-B/4635

(14)

56.

57.

58.

59.

60.

TR [T STEET HAT B

(A)  HikT A
(B)  UEH
C) SR =
O)  HFT fasqyer

it fgedyer & 9% He od
¥

A T=H Ry

(B)  dN

C) Wi

O) @

SR @ A% TR Tl
e T F AGE © ¢

A B

(B)  dN

Cc S.&. 3

() .

= | =afie siefame &1 R
g

A e @& s

B) o fewm @1 R

C) oo & g T
D) o™ g WX & R
TS ST SRER ekl §

(A) TR HHT T NNP &

(B) WL WFIH X NNP &

€ IS 9 IR &

D) o TS IR (ShEd) &



61.

62.

63.

64.

65.
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Can interest be zero or negative

ever ?
(A) Yes
(B) No

€ Difficult to say
D) None of the above
Keynes Interest Theory is known with the

name of :

(A) Marginal Productivity Theory

(B) Time Preference Theory

€ Sacrifice Theory of Interest

D) Liquidity Preference Theory of

Interest

Demand of money for speculative motive

depends on :
(A) Rate of interest
(B) Income level

(®) Rate of profit
D) None of the above
Liquidity trap implied that :

(A) Rate of Interest cannot change
B) Rate of Interest can not increase
above a particular level
(9] Rate of Interest cannot fall below

a particular level
D) Liquidity cannot change
Which of the following types of business
cycles have the longer distance ?
(A) Juglar cycle

(B) Kitchin cycle
©) Building cycle
D) Kondratieff cycle

(15)
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66.

67.

68.

69.

70.

What does we mean from total demand

or aggregate demand ?

(A) Investment demand + Saving
demand

(B) Consumption demand +
Government demand

(C) Investment  demand +
Consumption demand

D) Consumption demand + Saving
demand

According to Keynes Income theory, when

Investment Increases then Income :

(A) Increases

(B) Decreases

(C) Remains constant

D) None of the above

Induced Investment is a function of :

(A) Rate of Interest

(B) Technique

€ Income

D) Government Policy

The combined effect of Multiplier and

Accelerator is denoted as :

(A) Induced Investment

(B) Super Multiplier

© Fast Multiplier

D) Autonomous Investment

Who introduced the term Ex-ante and Ex-

post ?

(A) Gunnar Mirdal
(B) Ricardo

€ Malthus

D) J.B. Say
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7.

72.

73.

74.

75.

Measurement of National Income in India

is done by :
A
B
C

(A) Planning Commission

(B) Central Statistical Organisation
(®) Indian Statistical Institute

(

D) Reserve Bank of India

NNP means :

(A) GDP - Depreciation
B) GDP + Depreciation
(9] NNP - Depreciation
D) GNP - Depreciation

Transfer Payment include :

(A) Pensions

(B) Unemployment allowance
€ Subsidies

D) All of the above

Wages, Interest, Rent and Profit are
distributed :

(A) From Gross National Product
B) From Net National Product

€ From National Income

D) From Personal Income which can

be expanded

Social Accounting is :

(A) National Income

B) Total National Production

€ Net National Production

D) On the basis of aim any of the

above
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76.

7.

78.

79.

80.

Which of the following is not a method of

measuring National Income ?

(A) Production method
B) Income method

€ Cost method

D) Expenditure method
Capital is :

(A) Stock concept

B) Flow concept

€ Both (A) and (B)

D) None of the above

According to Keynes, the increases in

consumption and income is :

) Non-proportional

) Proportional

) Constant

D) None of the above

The relative income hypothesis was given

by :

A) J.M. Keynes

B) J.S. Duesenberry
)

C F. Modigliani

(
(
(
D) None of the above

The concept of Inflationary Gap is

introduced by :

(A)  AC. Pigou
(B) J.M. Keynes
(C) Milton Friedman

D) Samuelson
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81.

82.

83.

84.

85.

Indicators of Marginal Propensity to
Consume are :

AC
(A) NG
AY
(B) A
© ac
AC
D) B2

Indicator of Marginal Propensity to Save

A)  1-MPC
B)  MPC-1
€  1+MPC
0) 1-APC

Multiplier depends on :

(A) Marginal Propensity to Consume
(B) Average Propensity to Consume
€ Propensity to Invest

D) None of the above

Concept of Multiplier was developed first

(A) J.M. Keynes
(B) R.F. Kahn
€ J.D. Clark

D) Samuelson
Investment multiplier is related with which
of the following economist ?

(A) J.R. Hicks

(B) J.M. Keynes
€ R.F. Kahn

D) Alfred Marshall
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86. Economic Welfare increases when : 86. i Heamr o giig 2l B 9

(A)  National Income Increases A T T Todl B
(B) Prices Increase (B) PG S &
©) Prices Remain Constant € Fd Re) el &
(D) Al of the above are true O SR | 7=
87.  Cause of Pollution is : 87.  UGET & FRT B :
(A)  Over Population (A)  STEEA G
(B) Cutting of Trees (B) q&ﬁ I <RI SITHT
(C)  Both (A)and (B) ) & (A) &R (B)
(D)  None of the above O) SR H q HE T
88.  "Supply creates its own demand." This 88. “Eﬁ O G @ I H 81”7
statement is given by : 7€ HIT fpeH ® ?
(A)  Prof. Keynes A o H
B)  JB. Say ® S
€)  Marshall € e
D)  Pigou 0  dr
89. J.B. Say's Law of Market is related 89. Sl § # oK # e e
o : e B 7
(A) Classical Theory of Employment (A) Hfifesd TR fersr
(B) Keynes Theory of Employment B) HI AT T
(€)  Both (A)and (B) © [ (A) &R (B)
D) None of the above D) gquﬁ F 8§ A T
90. To increase employment Keynes gave 9. FE 7 AT q@™ 3fte 8
very much importance to : wifd Hee R ®
(A) Propensity to Consume (A) IO qgi%r Al
B)  Public Investment B)  EwEIS T @
(C) Private Investment ©) et e
D) None of the above ) Gqﬁ'alﬁ F 8@ T
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9.

92.

93.

94.

95.

The relationship of Multiplier with MPC is :
(A) Direct Relation

(B) Indirect Relation

€ Proportional Relation

D) None of the above

Quantity of Multiplier is decided by :

(A) Average Propensity to Consume
(B) Marginal Propensity to Consume
(9] Marginal Propensity to Save

D) Marginal Income

Limitations of value of multiplier are :

(A) 0to1
(B) 1t0 10
€ +1 and -1

D) None of the above

According to Classical Economist, saving

is a function of :

(A) Investment

B) Rate of Interest

€ Level of Income

D) Demand of Money

Causes of Diminishing of Marginal

Productivity of Capital are :

(A) Increase in Supply of Marginal
Goods

(B) Increase in Prices of Capital
Goods

©) Functioning of Law of Diminishing
Production

D) All of the above
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96.

97.

98.

99.

100.

The concept of Money Illusion was given

(A) Irving Fisher
(B) Arthur Okun
(9] P.A. Samuelson

D) C.P. Kindleberger

(A) J.M. Clark
(B) Keynes
€ Samuelson

D) Robertson

Accelerator depends on :

(A) Ratio of capital and production
(B) Stability of capital goods

©) Both (A) and (B)

D) None of the above

Formula of Accelerator is :

Liquidity Preference Theory of Interest was
propounded by :

(A) Wicksell
(B) Clark
() Keynes
D) Fisher
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4, Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

1. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

JeTe T

RS

91 @ @ © ©
w2 @ ® O
w3 ® @ © ©

4. U U & ik TN §| oMUD Ria I
eI B, Il & APAR &b T [l ST

5. Tl I B AToTHORo  ITL-UFH
(OMR Answer Sheet) ® & @ I 2|
IO H MEiRa we & oEr o=

FEl WX e T SO} 9= g e

6. 3MoTHoARo IW-T% (OMR Answer
Sheet) W %8 1 e & 7@ 399 3 ™
gl oTRdl F WEEFIYES B [ S|

7. e TR b QU qeelt we e
N I OMR Answer Sheet SUwe H

% 9 & Tl B A TR S gl
T A FeT-GRAH o ST T o

8. fitfea mfes =& B

9. @B A W FE, UH-IRGH b, W-F &
fT U @l 379X &1 fehEr ST e

10.  OET- 7 -, IRy, TOR T Hega
B & ST T SHH SUAN HET il Bl

1. U9 % ol UG 3Tl @qraxer § f=iar 8

B SN H U H SIS WAWRI & A
B
AP IFYRAE G W YgEd: e #
@ & % urgRaw 3 @@ g wEMTT BT
gC ¢ Ak gsmgfaa F #is HW e, @
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